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2.1  

How long can we use the MP3 player with a new set of batteries? 

 In series:  

The current remains the same in series. Here it is the voltage that doubles. So, in this way the MP3 

player will last for 6 hours. 

I = 300 mAh  φὬ  

 In parallel: 

In a parallel circuit the current is doubled because every battery delivers 300 mAh. So, in this way the 

MP3 player will last for 6 hours. 

I = 600 mAh  ρςὬ 

2.2  

Which graph depicts an ideal power source an which graph depicts a non-ideal realistic power source? 

B depicts an ideal power source, because you prefer that the voltage stays  constant regardless the 

current.  

C depicts a non-ideal but realistic power source, because the voltage drops before the load current is 

fully drained from the battery. 

2.3  

Which graph depicts an ideal power source and which graph depicts a non-ideal power source? 

C depicts an ideal power source, because the voltage remains constant over time. 

B depicts a non-ideal power source, because the voltage drops as the battery is drained over time. 

2.4  

Is the supply sufficient for this amplifier? Explain! 

The answer is no, because: 

ὖ Ὗ Ὅz υπzς ρππ ὡὥὸὸ 

The efficiency is: Ὁ
έόὸ

ίέόὶὧὩ

ρzππϷσυϷ 

συϷ
ίέόὶὧὩ 

ρzππϷ => ὖίέόὶὧὩ 
ȟ
ρz  ρτσ ὡ 

The desired P is bigger than the actual P, this means that the supply is not sufficient. 
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2.5  

At what frequency does this bulb flicker? 

The lamp turns on twice during a period of    second. 

So, Ὕ  

Ὢὰὥάὴ 
ρ

ρ
ρππ

 ρππ Ὄᾀ 

3.1  

Draw the graph of V = f(I) with R = constant. 

ὠ ὪὍ ὙϽὍ 

 

 

 

 

 

 

 

 

 

3.2  

Determine the current flowing through and the power dissipated in the resistor. 

1. Current flowing: Ὅ πȟπρ ὃ ρπ άὃ 

2. Power dissipated: ὖ Ὗ Ὅz ρπzπȟπρ  πȟρ ὡ 
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3.3 

Draw the graph of P = f (I) with R = constant. 

ὖ ὍϽὙ 

 

 

 

 

 

3.4  

Which type of resistors do you think can handle the largest power, resistor types having a physical 

large size or small ones? Explain! 

The larger resistor can handle more power, as it takes more energy to warm up the resistor. 

3.5  

Show by calculation that is it not possible to let R dissipate more than the maximum amount of power 

that R can handle. 

ὖάὥὼπȟςυ ὡ 

Ὗ ρω ὠ 

Ὑ ρȟυ ὯЏ 

Ὅ
Ὗ

Ὑ

ρωȟπ

ρυππ
ρςȟφ άὃ 

ὖ Ὥί ὧέὲίὸὥὲὸ ὥὲὨ ύὭὰὰ ὦὩ ὸὬὩ ίὥάὩ ὶὩὫὥὶὨὰὩίί ὸὬὩ ὧέὲὲὩὧὸὭέὲȢ 

ὖ ὟϽὍ ρςȟφϽρπσϽρω πȟςτ ὡ 

πȟςτ πȟςυ          ὸὬόί ὸὬὩ ὴέύὩὶ ύὭὰὰ ὥὰύὥώί ὦὩ ὰὩίίȢ 
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3.6  

Find two resistor from the E12 series and connect them in such a way that Rre satisfies the demands 

for the resistance value, tolerance and the amount of power to handle. 

For a parallel circuit applies in this case: Ὑὸέὸ  

ὍὪ Ὑ Ὑ ὸὬὥὲ Ὥί Ὑ
Ὑ

ς
        ὫὭὺὩίȡ Ὑ υππzς ρπππ Џ 

This will give two resistors with the following coloring:  Brown-Black-Black-Brown-Brown (1kΩ) 

3.7  

Find two resistors in the E12 series which realize the voltage divider shown in Figure 3.5 as accurate as 

possible. 

The most suitable resistors are the resistors of R1 = 4,7kΩ and R2 = 3,9kΩ. 

4.1  

A capacitor of 100 pF is coupled to a DC-source of 12 V. 

1.  What is the total amount of charge stored on it? 

ὅ
ὗ

ὠ
 ȟὗ ὅϽὠ πȟρϽρπ ρzς ρȟςϽρπ  ὅέόὰέάὦ 

 

2. What is the total amount of electrical energy is stored in it? 

ὠ ρς ὠέὰὸ 
ὅ ρππϽρπ  ὊὥὶὥὨ 

Ὁ
ρ

ς
ὅὠ  

ρ

ς
ϽρππϽρπ ρzς χȟςϽρπ ὐέόὰὩ 

 
3. ²ƘŜƴ ǿŜ ŎƘŀǊƎŜ ǘƘƛǎ ŎŀǇŀŎƛǘƻǊ όŘƻƴΩǘ ǘƘƛƴƪ ŀōƻǳǘ ǘƘŜ ǾƻƭǘŀƎŜ ƻŦ ǘƘŜ ǎƻǳǊŎŜύ ǿƛǘƘ ŀ ǎǘŜŀŘȅ 

current of 50 mA. How long does it take to charge this capacitor to a voltage of 90 V?(Note: 
Ampere is Coulomb per second!) 
 

Ὅ ὅϽ
Ўὠ

Ўὸ
 O  Ўὸ

ὅϽЎὠ

Ὅ

πȟρϽρπ ωzπ

υπϽρπ
ρȟψϽρπὅέόὰόάὦȾίὩὧέὲὨ 
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4.2  
 
What will happen with the impedance Xc if: 

1. Frequency ắ increases? 
 

Xc decreases. 
 

2. The frequency ắ decreases? 
 

Xc increases. 
 

4.3  
 
Derive that holds:  
 

  ╒►▄ ὅ  

 
Use the fact that the potential difference across each capacitor is the same, use Equation 
4.1 and take the same steps as in the derivation of Equation 4.6 . 
 

ὅ
ὗ

ὠ
 O ὠ

ὗ

ὅ
 

ὠ
ὗ

ὅ

ὗ

ὅ

ὗ

ὅ

ρ

ὅ
Ͻὗ ὗ ὗ  

ὅϽὠ ὅϽὠ ὅϽὠϽ
ρ

ὅ
ὠ 

ὅ ὅ ὅ ὅ 

ὅ  ὅ 

4.4  
 
What is the equivalent capacitance of the circuit shown below? 

 
Ὓ  ‘Ὂ 

ὖ Ὓ ρ‘Ὂ ρ
ρ

σ
 ‘Ὂ 

Ὓ
ρ

ρ
ρ
σ
ρ
ρ

τ

χ
 ‘Ὂ 

ὅ
τ

χ
‘Ὂ πȟυχ ‘Ὂ υχπ ὲὊ 
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4.5  
 

Equation 4.8 shows the transfer function of a RC low-pass filter. Rework this function in such a way 

that it describes the transfer function of a RC high-pass filter and draw its (amplitude) 

transfer-function. 

ὠ ‫
Ὑ

Ὑ ὢ 
 

Because Vout is based on V over the resistor instead of over the capacitor. 

 

 
 
 
 
 
 
 
 
 
 

 
4.6  

 
Show by calculation that for both types of RC-filters at the cut-off point holds:  

Vout / Vin = 0.707 

ὠ
ὠ

Ѝς
 

ὠ Ͻ Ѝς ὠ  
ὠ

ὠ
 Ѝς 

ὠ

ὠ

ρ

Ѝς
πȟχπχ 

4.7  

Determine the current flowing through and the power dissipated in the resistor. 

1. ὠὸ ὠ ρ Ὡ  

ὸ ρυϽρπϽρππϽρπ ϽÌÎς ρȟπτάί  

Ὄ  
ὠ

ὠ
 ᴻ 

ὪO  
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2. Ὅ  ὅ  is a differential equation derived from ὠ Ὢὸ. Solving it results in a 

logarithmic function with e. This means it’s non-linear.   

5.1  
 
When a current flows through an inductor and the current is suddenly cut off, this can 

damage your circuit. Explain why this can happen. 
 

When the current is cut off, the magnet will discharge. This will result in a voltage peak, which can 

damage vulnerable components in a circuit. 

5.2  
 
A current source provides a current of 100 mA which flows through an 1 mH inductor. 

How many energy is stored in the inductor? 
 

Ὅ ρππάὃ 

ὒ ράὌ 

Ὁ
ρ

ς
ὒὍ

ρ

ς
ϽρϽρπ ϽρππϽρπ υȟπϽρπ ὐ 

5.3  

 

What will happen with the impedance Zl if: 

1. The frequency f increases? 

 

Zl will increase 

 

2. The frequency f decreases?  

 

Zl will decrease 
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5.4  
 

If you consider the parallel connection of three inductorǎ ǿƛǘƘ [м Ґ лΦоо ƳIΣ [н Ґ су ˃I ŀƴŘ [о Ґ мн 

mH. What can you tell, without calculating it, about the replacement inductance Lre? So, 

which of the three answers is correct and why is it correct ? 

1. Lre > 12 mH 

2. [ǊŜ ғ су ˃I 

3. су ˃I ғ [ǊŜ ғ лΦоо ƳI 

 

Lre < 68 µH. Because one divided by a very small number gives a big answer. 3 big answers together give 

a much bigger answer. If you divide 1 by this answer, the outcome will be very small, and thus smaller 

than 68 µH. 

5.5  
 

What is the equivalent inductance Lre of the circuit shown below? 

 

  

 

ὒ ὒ ὒ ρπππ‘Ὄ ράὌ 

ὒ
ρ

ρ
ὒ

ρ
ὒ

ρ

ρ
ρ
ρ
σ

πȟχυ άὌ 

ὒ ὒ ὒ ὒ ς πȟχυρ σȟχυ άὌ 

 

5.6  

Is the filter drawn in Figure 5.6 a high-pass or a low-pass filter? 

 

 

 

High-pass, since an inductor works the opposite way compared to a capacitor. 
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5.7  
 

1. What do you get by interchanging the position of L and R in Figure 5.6: a high-pass or a low-

pass filter? 

 

A low-pass filter. 

 

2. Mathematically derive the equation which describes the input-output relation (like Equation 

5.8) of this newfound filter. 

ὠ

ὠ

Ὑ

ὤ
 

ὠ
Ὑ

ὤ
ϽὠὭὲ 

ὠ
Ὑ

ЍὙ ‫z ὰz 
Ͻὠ  

5.8  
 

Calculate the current I in the circuit drawn in Figure 5.6 at 3 different Vin frequencies: 

1. 100 kHz 

Ὢ ρππὯὌᾀ 

ὢ ς“ϽρππϽρπϽρϽρπ ςππ“  

Ὅ
Ὗ

Ὑ

ρπ

Ὑ ὢ  

ρπ

Ѝρπππςππ“
ωωȟω άὃ 

2. 0 Hz 

Ὢ π Ὄᾀ O ὢ π 

Ὅ
Ὗ

Ὑ

ρπ

ρπππ
ρπ άὃ 

3. approaching infinity 

Ὢ ρϽρπ Ὄᾀ 

ὢ ς“ϽρϽρπ Ͻρπ ς“Ͻρπ 

Ὅ
ρπ

ς“Ͻρπ ρπππ
ρȟφϽρπ ὃ O Ὅ π ὃ 

 

5.8  
 

Verify that for an ideal transformer it holds that Pprimary = Psecondary. 

 

In a non-ideal transformer there always is some energy loss, because the transformer generates a little 

bit of heat. This indicates that an ideal transformer does not generate any heat. 
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6.1  

Find the potential for node b in the schematic below, use KCL.  

Ὅ
ρς

φωπ
ρχȟτ άὃ 

ὔέὨὩ ὄ Ὅ Ὅ π 

Ὅ   Ὅ  

Ὅ Ὅ
ρςὠ

τππ

ὠ

ςωπ
π 

τππὠ ςωπρςὠ  

ὠ
στψπ

φωπ
υȟπτσυȟπ ὠ 

6.2  

Can you think of another closed loop in the circuit shown in Figure 6.2? 

The loop fo R1, R3 and R4; the outer loop.  

 

 

 

 

 

 

 

 

 

 



DG220 Introducing Electronics Report  // Jeroen Rood s113388 // Floris Voorhoeve s113684 // 4/6/2012  

6.3  

Write out the KVL for all closed loops of the circuit shown in Figure 6.2. 

ὅόὶὶὩὲὸ ρ ὠ ὠ ὠ π 

ὅόὶὶὩὲὸ ς ὠ ὠ ὠ π 

ὅόὶὶὩὲὸ σ ὠ ὠ ὠ ὠ ὠ ὠ π 

 

 

 

 

 

 

6.4 

1. Apply the KVL to all Loops in the circuit. 

ὅόὶὶὩὲὸ ρ ὠ ὠ ὠ π 

ὅόὶὶὩὲὸ ς ὠ ὠ ὠ π 

ὅόὶὶὩὲὸ σ ὠ ὠ ὠ ὠ π 
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2. What is the value of V2? 

ὠ ω ὠ  ὥὲὨ ὠ σȟχ ὠȢ 

ὠ ὠ ὠ π 

ὠ ω σȟχ υȟσ ὠ 

3. Take V4 = 1.3V. What is the value of V3? 

 

ὠ ὠ ὠ π 

ὠ υȟσ ρȟσ τȟπ ὠ 

4. With all voltage drops, check the KVL for all loops. 

 

ὅόὶὶὩὲὸ ρ ὠ ὠ ὠ σȟχ υȟσ ωȟπ π 

ὅόὶὶὩὲὸ ς ὠ ὠ ὠ τȟπ ρȟσ υȟσ π 

ὅόὶὶὩὲὸ σ ὠ ὠ ὠ ὠ σȟχ τȟπ ρȟσ ωȟπ π 

6.5   

1. Apply KCL to determine the voltage at the nodes of the circuit below. 

 

 

 

 

 

 

Ὅ
ὠ ὠ

Ὑ

ρπὠ

ςπππ
 

Ὅ
ὠ ὠ

Ὑ

ὠ π

υππ
 

Ὅ
ὠ ὠ

Ὑ

ὠ υ

ςπππ
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Ὅ Ὅ Ὅ π 

ρπὠ

ςπππ

ὠ

υππ

ὠ υ

ςπππ
π 

ρυς

ςπππ

ὠ

υππ
π 

υππρυςὠ ςπππὠ 

ὠ ςȟυ ὠ 

 

2. Apply KVL to determine the voltage at the nodes of the circuit below 

 

ὒέέὴ ρ ὥᴼὦO Ὠᴼὥ 

ὒέέὴ ρ ὙϽὍ Ὑ ϽὍ Ὅ ὠ ςπππϽὍ υππὍ Ὅ ρπ π 

ὒέέὴ ς ὧO ὦO Ὠᴼὧ 

ὒέέὴ ς Ὑ ϽὍ υππὍ Ὅ ὠ ςπππϽὍ υππὍ Ὅ υ π 

Solving these equations gives Ὅ σȟχυ άὃ ὥὲὨ Ὅ ρȟςυ άὃ 

With these values we are able to calculate the voltage drops over each resistance: 

ὠ ὙϽὍ Ὅ υππϽσȟχυρȟςυ ςȟυ ὠ 

3. Verify the both yield the same solution! 

As you can see, both methods give the same solution. ὠis in both cases 2,5 V. 

7.1  

1. Calculate the open circuit voltage Voc. 

ὠ
Ὑ

Ὑ Ὑ
Ͻὠ  

2. Calculate the short circuit current Isc. 

Ὅ
ὠ

Ὑ
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3. Calculate the equivalent resistance 
╡╣

╡╝
 by applying Equitation 7.1. 

Ὑ

Ὑ

ὠ

Ὅ

Ὑ
Ὑ ὙϽὠ

ὠ
Ὑ

Ὑ

ὠ
Ͻ
Ὑ

Ὑ Ὑ
Ͻὠ

ὙϽὙ

Ὑ Ὑ
 

4. Draw the equivalent Thevenin circuit and indicate the values for Voc and RT. 

 

 

 

 

 

 

 

7.2  

Determine the Thevenin equilevant circuit paramaters of this circuit. 

ὠ
Ὑ

Ὑ Ὑ Ὑ
Ͻὠ

ρ

σ
Ͻρπ σȟσσ ὠ 

Ὑ
ὠ

Ὅ

ρπ
σ
ρπ
ςυππ
ς

σȟσσ

ςϽρπ

υ

σ
ρȟφχ ὯЏ 
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8.1 

The signal of the AC-source is a sine wave. Sketch the course of the output for both situations. Assume 

Vin to be 2 Vtop-top. Now indicate the top values of Vout in both  situations. 

Vout for situations A 

 

 

 

 

 

 

 

 

 

 

Vout for situation B 
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8.2 

Assume that the voltage across the LED is 2 V and that we want to have a current of 15 mA. What will 

be a good E-12 based value for R? 

Ὑ
Ὗ

Ὅ

ω ς

ρυϽρπ
τφχЏ 

If we look to the E-12 resistor series. We see that 470 Ω is the most suitable resistor for this job.  

9.1 

What should the ouput voltage level of subcircuit X be if we want to switch the lamp on? Explain why! 

A PNP transistor is applied, which means that the transistor switches when there is no voltage. So, the 

output voltage level of subcircuit X should be 0 V to turn the lamp on. 

9.2 

1. Argue that suddenly interrupting even a small current will lead to a huge potential difference 

over the inductor. 

 

ὠ ὒϽ
ὨὍ

ὨὝ
ρϽρπ Ͻ

ρππϽρπ

ρϽρπ
ρππ ὠ 

ὠ ὒϽ
ὨὍ

ὨὝ
ρϽρπ Ͻ

ρππϽρπ

ρ
πȟρ άὠ 

 

So, when your transistor switches many times in a second. You’ve to watch out for the voltage peak. 

Because, how more switches per second how higher the voltage peak will be when the current stops. 

 

2. Suppose no bleeding diode is available. Which of the three transistors can switch the above 

mentioned load condition without being damaged. 

Transistor Name Max Voltage in Voltage Status 

BC 550 45 Will be damaged, cannot resist voltage peak 

2N3439 450 Stays in intact, resist voltage peak 

BC618 80 Will be damaged, cannot resist voltage peak 

 

 



DG220 Introducing Electronics Report  // Jeroen Rood s113388 // Floris Voorhoeve s113684 // 4/6/2012  

9.3 

DƛǾŜ ŀƴ ŀǇǇǊƻȄƛƳŀǘƛƻƴ ƻŦ ǘƘŜ ŘŀǊƭƛƴƎǘƻƴΩǎ ōŀǎŜ-emitter potential difference that is needed to make it 

conduct. 

This potential difference should be two times larger. Because the transistors are connected in serie. 

9.4 

Which of the four transistors will fulfill the requirements when switched into saturation? Calculate the 

resistance value of Rb needed for the saturation condition. 

BC 550 is not suitable, because Imax is too small. BC 550 can resist a current of 0.1 A, the lamp needs 

0.2A. So, the transistor will be damaged. 

2N3773 is not suitable either, because β is too small. Now Ib has to be bigger than 0,4 mA to get a 

current of 200 mA at Ic. Ὅ ρπϽ
ȟ
Ͻρπ σσάὃ this is far more current then subcircuit x 

delivers. 

BD 139 is also not suitable, because: Ὅ ρπϽ
ȟ
Ͻρπ ψάὃ 

BC 618 is suitable, because Ὅ ρπϽ
ȟ

πȟπτάὃ 

10.1  

Determine (the same way as we did for the inverting amplifier) that for the transfer of the non-

inverting amplifier, drawn in Figure 10.4, holds: 

ὠ

ὠ
ρ
Ὑ

Ὑ
 

 
If Vin,+ = Vin,- gives that over point A V = Vin , then: 
 

ὠ ὍϽὙ 
ὠ ὍὙ Ὑ  

 
Thus 

ὠ

ὠ

ὍὙ Ὑ

ὍϽὙ

Ὑ Ὑ

Ὑ
ρ
Ὑ

Ὑ
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10.2  

Why are resistance values for the feedback ǊŜǎƛǎǘƻǊǎ ŎƘƻǎŜƴ ƛƴ Yʍ ŀƴŘ ƴƻǘ ƛƴ ʍΚ όŜΦƎΦ {ŜŜ figure 10.4: 

wм Ґ мл ʍ ŀƴŘ wн Ґ млл ʍ ƻǊ wм Ґ мYʍ ŀƴŘ wн Ґ млYʍ ǿƛƭƭ ōƻǘƘ ǊŜǎǳƭǘ ƛƴ ŀ Ǝŀƛƴ ƻŦммύ 

If you use a 10Ω resistor, you will probably damage your circuit due to a massive current, as Ὅ .  

By using a resistor with a higher value, like a 10kΩ resistor, the circuit will be protected against a high 
current. 
 

10.3 

Suppose an opamp is powered by a symmetrical power supply.  

- What will happen with the output of the non-inverting amplifier if the input voltage Vin is 

higher than the supply voltage? 

The opamp needs power to amplify. That means if Vin is higher than the voltage over the opamp, 
nothing will change in the amplified signal. This is due to the fact that the opamp needs more power to 
create the amplified signal for the new Vin, otherwise the output will be clipped. 
 

- Same question but now for the inverting amplifier? 
 

The same occurs for the inverting opamp. Nothing will change in the amplified signal. 
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12.1  

 
DƛǾŜ ǘƘŜ ǘǊǳǘƘ ǘŀōƭŜ ŦƻǊ ŀƴ Ψ·bhwΩ-gate. 
 

Input 1 Input 2 Output 

0 0 1 

1 0 0 

0 1 0 

1 1 1 
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Assignment 1 (Chapter 3) 

Calculate Rretotaal, I1, I2, I3, I4, and Vout. 

Ὑ Ὑ
ρ

ρ
Ὑ

ρ
Ὑ

ρ
Ὑ Ὑ

Ὑ ςȟς
ρ

ρ
ρπ

ρ
τȟχ

ρ
ςȟς σȟσ

σȟσ χȟυ ὯЏ 

Ὑ
ρ

ρ
ρπ

ρ
τȟχ

ρ
σȟσ ςȟς

ςȟπς ὯЏ 

Ὅ
ρπ

χυππ
ρȟσσ άὃ 

Ὅ Ὅ Ὅ  

ὠ ὍϽὙ ρȟσϽςȟς ςȟωσ ὠ 

ὠ ὍϽὙ ρȟσϽσȟσ τȟτ ὠ 

ὠ ὠ ὠ ὠ ρπςȟωστȟτ ςȟφχ ὠ 

Ὅ
ὠ

Ὑ

ςȟφχ

ρππππ
πȟςφχ άὃ πȟςχάὃ 

Ὅ
ὠ

Ὑ

ςȟφχ

τχππ
πȟυφψ άὃ πȟυχ άὃ 

Ὅ
ὠ

Ὑȟ

ςȟφχ

υυππ
πȟτψυ άὃ πȟτω άὃ 

ὠ ὍϽὙ ὍϽὙ πȟτωϽσȟσ ρȟσϽσȟσ υȟωπχ ὠ υȟω ὠ 

Measure to see if you calculation are right 

 Measured Calculated 

I1 1,32 mA 1,33 mA 

I2 0,268 mA 0,267 mA 

I3 0,568 mA 0,568 mA 

I4 0,486 mA 0,485 mA 

Rtot  7,47 kΩ 7,52 kΩ 

Vout 6,03 V 5,9 V 
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How did we measured? 

This is a picture of how we did our measurements for 

knowing the current and voltage. The resistance we 

measured by disconnecting the power source and 

placing the multimeter on V+ and V- of Vin. 

 

 

 

 

 

Take a potmeter of 10 kҠ and replace resistance R4 and R5. What are you conclusions? 

A potmeter works the same as two resistors, only with the potmeter you devide a resistor in half. So if 

you take a 10 kΩ potmeter the pins A and B will scale from 0 Ω to 10 kΩ and the pins B and C will scale 

from 10 kΩ to 0 Ω. 

 

 

 

 

 

ὍὪ ὠ υ ὠ  ὸὬὥὲȟὙ χȟψς ὯЏ ὥὲὨ Ὑ σȟπχ ὯЏ 

Calculation: 

Ὑ ςȟς
ρ

ρ
ρπ

ρ
τȟχ

ρ
χȟψςσȟπχ

χȟχω ὯЏ 

Ὅ
ρπ

χωχπ
ρȟςυ άὃ 

ὠ ρȟςυϽςȟς ςȟχυ ὠ 

ὠ σȟσϽρȟςυ τȟρςυὠ 

ὠ ὠ ὠ ὠ ρπςȟχυτȟρςυσȟρςυ ὠ 
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Ὅ
ὠ

Ὑ Ὑ

σȟρςυ

χψςπσπχπ
πȟςψχ άὃ 

ὠ ὙϽὍ Ὑ ϽὍ σȟσϽρȟςυσȟπχϽπȟςψχυȟππ ὠ 

 

 

By using a potmeter you can easily influence the 

output of your voltage divider. In this way you can 

easily dim a light bulb or control the loudness of you 

stereo. This is possible because a potmeter works like 

two different resistors which you both changes by 

turning the knob. When turning, the resistance will 

become higher on one side and lower at the other 

side.    
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Assignment (Chapter 4) 
Build the circuits and measure Vout at 100 Hz, 1 kHz and 100 kHZ. 

Because we are working with a sinus wave, we got V+ and V- which means we work with Vrms. 

Unfortunately our multimeter measure Vrms. So, we did a calculation instead. And because the voltage 

on 100 Hz, 1kHz and 100 kHz is the same, because only the frequencies changes and not the amplitudes 

which causes the voltage. 

ὠ πȟχϽρȟπ πȟχ ὠ 

Build circuit B, calculate the amplitude for 100 Hz, 1 kHz and 100 kHz and measure if you are right. 

We work with a high-pass filter. Thus the higher the frequencies, the bigger the amplitude and the 

voltage. 

Ὢ ρππὌᾀ 

ὠ
Ὑ

Ὑ ὢ 
Ͻὠ ρςυ άὠ 

 

Ὢ ρὯὌᾀ  

ὠ ρȟπφ ὠ 

 

Ὢ ρππ ὯὌᾀ  

ὠ ςȟπ ὠ 

Build circuit C, calculate the amplitude for 100 Hz, 1 kHz and 100 kHz and measure if you are right. 

We work with a low-pass filter. Thus the lower the frequencies, the bigger the amplitude and the 

voltage. 

Ὢ ρππ Ὄᾀ 

ὠ
ὢ

Ὑ ὢ 
ὠz ςȟπ ὠ 

 

Ὢ ρ ὯὌᾀ  

ὠ ρȟχ ὠ 

 

Ὢ ρππ ὯὌᾀ 

ὠ σπ άὠ 
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Calculate the cut-off frequency fc of the last filter. Verify your result by measuring Vout at this 

frequency with the oscilloscope. 

 At Ὢ
Ͻ Ͻ Ͻ Ͻ

ρυωρ Ὄᾀ ρȟφ ὯὌᾀ 

We could clearly see this at the screen of the oscilloscope. It started slowly, but at 1,6 kHz the voltage 

dropped very fast and at 1.8 kHz their almost was no amplitude anymore. 

What for a kind of filter is this? 

This is a low-pass filter, because the higher the frequency, the lower the voltage. This can be seen in de 

calculations from above. 

Frequency Calculated value Measured value 

100 Hz 100 mV 0,1  V 

1 kHz 1,06 V 1 V 

100 kHz 2,00 V 2 V 

100 Hz 2,00 V 2,01 V 

1 kHz 1,7 V 1,69 V 

100 kHz 30 mV 50 mV 

Our measurements, this were our readings from the oscilloscope. 
 
Conlusion 
 
By interchanging the capacitor and the resistor, the high-pass filter becomes a low-pass filter. This 
means taking the voltage over the resistor as Vout will result in a low-pass filter, whereas taking the 
voltage over the capacitor as Vout will result in a high-pass filter.  
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Assignment (Chapter 6) 

Calculate the voltage drops across the resistors and the currents through them. Use KVL and indicate 

the loƻǇǎ ȅƻǳΩǾŜ ŎƘƻǎŜƴΦ ¢ŀƪŜ ƴƻŘŜ ΨŜΩ ŀǎ ǊŜŦŜǊŜƴŎŜΦ 

ὒέέὴρ ὍϽὙ Ὑ Ὅ Ὅ ὠ ςφχπϽὍ τχπϽὍ ρπ π 

ὒέέὴς ὍϽὙ Ὑ Ὅ Ὅ ὍϽὙ ὠ ψςχπϽὍ τχπϽὍ υ π 

Deducing this will give us the following equation: 

ςρψφππππϽὍ ψυπυππ 

Ὅ
ψυπυπ

ςρψφππππ
σȟψω άὃ 

Ὅ
υ τχπϽσȟψωϽρπ

ψςχπ
σȟψτϽρπ ὃ πȟσψ άὃ 

 

 

Image: Current I1 and Current I2 symbolize the current in this circuit, were in Current I1 is Loop 1 and 

Current I2 is Loop 2. 
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Build the circuit and verify your calculations 

 Measurements Calculations 

I1 3,71 mA  3,89 mA 

I2 0,38 mA 0,38 mA 

 

Our measurements almost confirm our calculations, but we cannot find the reason why I1 is so different 

from the calculation. Here is an image of how we measured. 
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Assignment (Chapter 8) 
 

Take a red LED and determine the relationship between Id and Vd. Start at Vd = 0 V and 

ƛƴŎǊŜƳŜƴǘ ±Ř ǿƛǘƘ ǎǘŜǇǎ ƻŦ лΦм ± ǳƴǘƛƭ Ƨǳǎǘ ŀōƻǾŜ ǘƘŜ ΨƪƴŜŜΩ ǾƻƭǘŀƎŜΦ 

Before you start, you must limit the current of the power supply to 500 mA. 

- Show the results of your measurements in a table. 

- Present a graph which shows the relation between Id and Vd . 

- Cƛƴŀƭƭȅ ǘŜƭƭ Ƙƻǿ ȅƻǳ ŘŜǘŜŎǘ ǘƘŜ ΨƪƴŜŜΩ ǾƻƭǘŀƎŜΦ 

 

Measurement 1 2 3 4 5 6 7 8 9 10 

V 1,6 1,7 1,8 1,9 2,0 2,1 2,2 2,3 2,4 2,5 

mA 1,1 2,4 5,7 10,1 15,0 19,5 24,3 30,4 35,5 40,0 

 
 

 We detected the knee voltage by observing the 
LED, as from a certain value it started emitting light. 
The knee voltage is around 1,6 V. 
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Assignment (Chapter 9) 

 млл ƪҠ мл ƪҠ пΣт ƪҠ нΣн ƪҠ м ƪҠ 470 

Ic - 0,105 0,16 0,19 0,23 0,27 

Vce 6,02 4,83 3,82 2,85 1,49 0,30 

Vbe 0,32 0,66 0,68 0,74 0,83 0,91 

 

When reaching saturation  Vce much lower and Vbe is becomes slowly higher. This is totally as we 

expected. Because when more voltage can go through the transistor from Ib, which depends on how low 

the resistor Rb is, the transistor will breakdown the diode which will open Ice. 

When the transistor opens a current will flow and most of the voltage will be used by the lamp, which is 

some kind of resistor. This will cause Vce to drop and Ic to rise. Because the lamp needs more 

current, 50 mA to be precisely.  

Also Vbe will rise, because when using a resistor with less resistance, more voltage will go over 

the transistor instead of the resistor. This means that Vbe will rise when a resistor with lesser 

resistance is used. 
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Assignment (Chapter 10) 
 

Notice: 

We used different resistors for R1 and R2, as the 10kΩ resistors were out of stock at the E-lab. For each 

10kΩ resistor we used two 4,7kΩ in series, having values of 9,4kΩ. So, R1 = R2 = 9,4 ∙ 103 Ω. 

Build the circuit by using a datasheet on the internet and Calculate the two transition levels and verify 
them. 
 
     ὠ ρπ ὠ 

ὠ ὍὙ Ὑ  

ὠ ὍϽὙ 

ὠ ρπ ὠ 

ὠ
Ὑ

Ὑ
ὙϽὙ
Ὑ Ὑ

 

ὠ  ρπ ὠ O ὠ
Ὑ

Ὑ
ὙϽὙ
Ὑ Ὑ

Ͻὠ υȟςς ὠ 

 

ὠ  π ὠ O ὠ

Ὑ ϽὙ 
Ὑ Ὑ

Ὑ
ὙϽὙ
Ὑ Ὑ

Ͻὠ τȟχψ ὠ 

Draw the hysteresis graph and indicate the measured values (see Figure 10.7). 

 ὠ ψȟυρ ὠ Ƞὠ πȟπυσ ὠ 
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Final Assignment 

 
Vx = 10 V ; Tlow = 20 °C ; Thigh = 40 °C ; 

The datasheet of the 10k NTC read the following values for Tmin and Tmax: 

T (°C) RT/R25 RT (∙103 Ω) 

20 °C (Tmin) 1,2683 12,603 

40 °C (Tmax) 0,5074 5,074 

 

We took R1 = 10 kΩ, as it is a value in between Tmin and Tmax. 

R6,max = 50 kΩ (potentiometer). Here we can adjust the value rather accurately.  

The transistor we took is BD679 (NPN). It can handle 4 A. This is a bit overkill, but a lighter version was 

out of stock. 

L1 = 2,3 V ; 20 mA 

R3 (protecting the LED) has to take up to 9 – 2,3 = 6,7 V as well as 20 mA (in series). 

This means Ὑ
ȟ

Ͻ
σσυ ɱ 

The heater is a power resistor, namely 10 Ω ; 3 W. 

The external power source (External), has to deliver 3W of power which the power resistor dissipates. 

This means we chose for 3V and 1A, since P = U ∙ I = 3 W. I = 1 A. This causes the resistor to warm up 

quickly. The voltage then goes without saying as P = 3 W and I = 1 A, which means Ὗ σ ὠ 
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Q1 O  ‍ χυπ; So Ὅ ρπϽ  πȟπρσ ὃ ρȟσ άὃ  

Through testing, we found out that the knee voltage of Q1 is around V = 1,2 V. 

ὠ ω ὠȟὍ ρσ άὃȟὠ ȟ ρȟς ὠ, so Ὑ
ȟ

ȟϽ

ȟ

ȟϽ
φππɱ  

R6 and R2 determine the bandwidth of the transition. For R2 we took a constant resistor, and for R6 a 

potentiometer in order to tune to the right bandwidth. 

R2 = 100 kΩ 

R6 is tuned to 5 kΩ, since the RNTC is close to 5 kΩ when T = 40 °C. To get the difference to zero at that 

level, R6 = 5 kΩ. 
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Reflection Jeroen Rood 
 
The goal for me of the assignment was to get some more grips on dealing with electronics. Besides, I 

wanted to develop myself in the competency area ‘Integrating Technology’. Since I did not do anything 

with electronics last semester, I would like to implement it this semester. To be honest, the assignment 

was better than expected. The work was not just theoretical, but also practical. I think this helped me a 

lot. Making the exercises was great to practice some theory as well as practicing doing some 

calculations, but if it were just these exercises, I would have missed a great deal of insight. Besides, I 

would also never get grips on dealing with electronics if there were not any practical assignments. 

But thanks to the assignment I now feel like I can handle electronics, and it is not magic anymore. I now 

also know how to choose components and what these components do. It is great to look up how other 

people make the circuit, but it is even better to understand how it is done.  

I can say this assignment was a challenge for me. The exercises were harder than I expected, but thanks 

to the physics classes not so long ago on secondary school most of the theory was pretty 

understandable. But one thing I was struggling to understand was how transistors and opamps work. In 

the end, I found out by means of the practical assignments. 

To put it in a few words, the assignment has been pretty helpful to me. I learned a great deal of how to 

work with electronics, and even got some more confidence on actually working with them.  
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Reflection Floris Voorhoeve 

Besides the electronic lessons I got at high school, which were more theoretical than practical, I never 

worked with electronics before. Also last semester I did not much with electronics and that is why I 

really wanted to participate in this assignment. First of all, to understand electronics and how to deal 

with it and secondly to develop more skill in the competence of ‘Integrating Technology’.  

I first thought that the assignment would be a more theoretical, but it also had a good practical side. 

This really helped me to understand what I was doing when I was working with electronics. If I only had 

to deal with theory, I would never understand how some components would work. Besides this, the 

theory side was sometimes hard to grasp and after an assignment I got more insight in these difficult 

parts. One example is the assignment about opamps and transistors. The theory was pretty difficult to 

grasp for both subjects. But during the practical assignments I started to understand those components 

better by just trying out some things and seeing what happened. 

The nice thing about this assignment is that I learned how easy it can be to create a something without 

using an Arduino. I find it awesome that we were able to create a heat controller without using an 

Arduino or something like that.  

So in short, this was a helpful and very learning full assignment for me. I learned about things I never 

would have thought about before and learned how I can create a simple circuit without using an 

Arduino. I developed the competency ‘Integrating Technology’ and could use everything I learned to 

create my final prototype without an Arduino. 


